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QUESTION 1

With an average block density greater than 90%. 

A. You should reconsider the dense and sparse settings 

B. You should consider no compression 

C. You should set Commit blocks to 

D. You should reconsider the outline order of dimensions 

Correct Answer: B 

Hyperion recommends that you should turn compression off if you have a block density > 90% (rarely happens) and you
should change to RLE compression when the block density is 

Note: You may want to disable data compression if blocks have very high density (90% or greater) and have few
consecutive, repeating data values. Under these conditions, enabling compression consumes resources unnecessarily.
Don\\'t use compression if disc space/memory is not an issue compared to your application. It can become a drain on
the processor. 

 

QUESTION 2

Identify the two true statements about block density for a Block Storage (BSO) database. 

A. Block density is the percentage of blocks that exist compared to the total number of blocks. 

B. Block density is the percentage of data that exists within a block compared to what can be stored in the total block. 

C. Ideally block density will be high. 

D. You can view the block density on the Application Properties tab in the Administration Services console. 

Correct Answer: BD 

B: The spread across the dense dimensions will determine the block density (basically, how full the block is). 

Incorrect answer: 

A: This is just false. 

Block density should not be high. An around 25% block density is fine, for example. 

 

QUESTION 3

Which four are the directories used for aggregate storage databases? 

A. Default 

B. Log 
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C. Metadata 

D. Data 

E. Bin 

F. Temp 

Correct Answer: ABCF 

ASO (Aggregate storage option): 

*

 Directory structure differs in both content and purpose from BSO 

*

 Tablespaces are utilized to store data and metadata ** Default stores numeric data (.dat file) ** Log records database
activity ** Metadata stores metadata information about the objects in the database ** Temp temporary working space for
the Essbase kernel 

 

QUESTION 4

Which three options will clear query tracking results in ASO? 

A. Materialize views 

B. Clear the data in the database 

C. Stop the application 

D. Turn off 

E. Change an outline 

Correct Answer: ACD 

Query tracking data is lost when you load additional cells, materialize any views, or shut down the application. 

 

QUESTION 5

Moving a stored entity member in a sparse dimension causes_________. 

A. a Full restructure 

B. an Index restructure 

C. an Outline restructure 

D. No restructure 

Correct Answer: B 
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If a member of a sparse dimension is moved, deleted, or added, Essbase restructures the index and creates new index
files. Restructuring the index is relatively fast; the time required depends on the index size. 
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